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STRUCTURE OF BOOKLET / MARKING SCHEME
	Section     Number of questions
	    Number of questions to be answered
	Number of marks

	A                                  4
B                                  6                               
	4
6
	35
20
       Total           55









SECTION AInstructions for Section A
Answer all questions in the spaces provided.

Flowerpots Café
Bill and Ben own and operate Flowerpots Café. The partners opened the business 12 months ago and have started to experience growth. They recently employed new staff to meet the needs of their customers. When Bill and Ben started the business, they were certain that they would include employees in the decision-making of the café and would encourage positive values, ideas, expectations and beliefs within the workplace. As the business grows, they are concerned that they will not be able to continue to develop this progressive corporate culture.
Question 1 (21 marks)
a. Explain the interests of one stakeholder at Flowerpots Café.			2 marks
Marking guide:
Identify one stakeholder – 1 mark
Explain what the chosen stakeholder wants or needs from the business– 1 mark

Sample answer:
One stakeholder is an employee.  An employee is an individual who provides their labour to a business so that objectives can be achieved.  This is given in return for wages.  An employee is interested in receiving good wages to reward their efforts.  They would also like training so that they can complete their current job and prepare for future career opportunities.  At Flowerpots Café, they would also like to be able to participate in business decision-making in the belief that their input is valued.  For example, decisions about how to improve customer service.


b. Suggest and justify two strategies for developing the corporate culture at Flowerpots Café.
4 marks
Marking guide:
Suggest two strategies – 2 marks 
justify why each strategy is a good choie for Flowerpots Café – 2 marks
Suggested strategies below:
· Written Slogans: these indicate the core values of a business. Eg. Commonwealth Bank ‘when we believe, we can’. This is OFFICIAL culture.
· Written Policies: an outline of expected work standards to guide staff behaviour. Eg. OHS, dress code.  This is OFFICIAL culture.
· Rituals, rites & celebrations: these are routine behavioural patterns that provide a sense of belonging and acknowledge what is important in the organisation.  This is REAL culture.
· Heroes: these are the organisation’s successful employees who are held up as an example for others.  This is REAL culture.
· management styles: these show the relationships between staff and managers. Eg. An autocratic style indicates a formal corporate culture.  This is REAL culture.

Sample answer:
One strategy for Flowerpots Café is the use of a participative management style to show an inclusive relationship between staff and managers.  This is where the management unite with staff to make business decisions together.  This would develop a positive corporate culture at the business as staff would feel valued for their contributions.
Another strategy for Flowerpots Café to use is the use of heroes.  Heroes are the organisation’s successful employees who are held up as an example for others to follow.  This would develop positive corporate culture at the business as staff will have peers as role models to demonstrate how to share positive values and expectations in the workplace.

c. Analyse two management skills that could be used to develop the corporate culture at Flowerpots Café.								4 marks
Marking guide:
Outline two management skills – 2 marks
Suggest how each skill could develop corporate culture at Flowerpots Café – 2 marks

Suitable skills include those listed on the study design:
Communication, delegating, planning, leading, decision-making and interpersonal.

Sample answer:
Leading is the skill of a manager when guiding workers towards achieving the goals of the business.  Leading could be used by a manager at Flowerpots Café to guide employees when making decisions that will benefit the achievement of business objectives.  For example, guiding employees to deliver excellent customer service at the café.
Delegating is the transfer of authority from manager to employee to perform tasks or makde decisions.  The responsibility for the final decision remains with the person in authority.  Delegating could be used at the café when management give employees authority to make decisions such as how to improve levels of customer service to achieve the objective of delivering excellent customer service.








d. Evaluate the appropriateness of the use of the participative management style in developing the corporate culture at Flowerpots Café.					5 marks
Marking guide:
Identify the participative management style – 1 mark
Strengths of using this style at the cafe– 2 marks
Weaknesses of using this style at the cafe – 2 marks
Overall opinion of usefulness of this style at the café – 1 mark

Sample answer:
A participative management style is where there is an inclusive relationship between staff and managers.  This is where the management unite with staff to make business decisions together.
A strength for the business of using this style is that when staff are included in joint decision-making, they will feel valued by the business so will be more productive in achieving business objectives.
Another strength is that this team approach to decision making would be effective in building positive relationships and a positive corporate culture at Flowerpots Café, which is a stated objective.
A weakness of using this management style is that it can be time consuming for management to meet with employees to jointly discuss and make business decisions together.
Another weakness of the participate management style is that not all employee input can be recognised and included in final decision making.  This could create resentment and hostility between co-workers, resulting in a negative corporate culture.
However, overall, the participative management style is suitable for Flowerpots Café because it matches their stated vision of an inclusive corporate culture, thus achieving this core objective.










e. Describe the principles of the Four Drives Theory of motivation, suggesting how Flowerpots Café could use this theory of motivation to increase employee productivity.	
6 marks
Marking guide:
Describe each of the principles of the Four Drives theory – 4 marks
Using examples of 1 or 2 principles, suggest how increased productivity could occur – 2 marks


Sample answer:
The Four Drive Theory of motivation involves the 4 principles of acquire, bond, comprehend and defend being used to motivate workers.  
The drive to acquire relates to an individual worker gathering the necessities for survival.  A manager may increase wages to fund clothing and housing costs or provide increased status such as a promotion or additional responsibility.  Flowerpots Café could provide status to a new employee by offering a supervisory role to meet this drive.  This would increase productivity as the employee would receive long-term motivation from this intrinsic factor, thus increasing output to achieve business objectives.  This could be accompanied by an increased wage to reward the increased effort and responsibility thus meeting all aspects of the drive to acquire.  
The drive to bond involves a manager providing staff with the opportunity to find connection with others in the workplace.  This sense of belonging also provides long-term intrinsic motivation in employees.  Flowerpots Café could meet social needs by encouraging collaborative teamwork and recognising achievements.  Meeting this drive would provide long term, intrinsic motivation to increase staff loyalty and workplace satisfaction thus increasing output to achieve business objectives.
The drive to comprehend involves people learning how to make sense of the world and make contributions to their learning outcomes.  This engages and energises employees in the long term by appealing to esteem needs.
The drive to defend stems from a natural human instinct to defend oneself from threats to themselves, family, friends or accomplishments.  The business would need to ensure that any changes made to its management of employees would avoid a fight or flight response from employees (due to fear of change), as this hinders successful and productive outcomes.  











Question 2 (4 marks)
Discuss two key characteristics of a partnership.
Marking guide:
Outline pros of two characteristics – 2 marks  
outline cons of two characteristics – 2 marks

Sample answer:
One characteristic of a partnership is the benefit of partners to share the profits in addition to a paid salary.  However a negative of distributing all of the profits to the partner owners is that there would be limited funds available to expand the business. eg. to develop new products or services for the business.
Another characteristic of a partnership is the legal structure of unlimited liability where the business owners are personally responsible for business debts. This is a negative as partner owners may need to sell their own assets such as a house or a car.  However, a positive of the unincorporated legal structure that contributes to unlimited liability is that it is a simple and inexpensive form of business legal structure to set up.
Question 3 (7 marks)
a. Compare the use of an award and an agreement in a business workplace.     	
4 marks
Marking guide: Aim for 3-4 points.  
Combinations can vary but must include at least 1 similarity and 1 difference.  Differences must include a LINKING WORD eg. whereas.
Features should be clear on topics such as the role of unions, who the wages and conditions are for, the role of the 10 NES, the role of the Fair Work Commission, 
Outline 2 similarities – 2 marks 
Outline 2 differences – 2 marks

[image: ]
b. Suggest why the use of mediation would be suitable for a business involved in a dispute with its employees about the terms and conditions of its agreement.
3 marks
Marking guide: 
Outline key features of mediation – 1 mark
Explain WHY mediation is suitable in resolving disputes – 2 marks

Sample answer:
Mediation is where the parties involved in conflict come to a mutually agreeable solution to a dispute using the assistance of an independent 3rd party who facilitates discussions about issues of conflict.  A business would choose mediation because it is held in a non-threatening environment which would preserve relationships.  It is also beneficial because the parties can together reach an amicable decision that is likely to be accepted by all parties.  It is also a less expensive option than arbitration which involves expensive court proceedings.

Question 4 (3 marks)
Define termination, explaining one reason why a business would need to terminate employees.
Marking guide: 
Outline key fetures of termination to define – 1-2 marks
Identify clearly and expand one reason WHY a business needs to terminate employees 1-2 marks


Sample answer:
Termination is when either an employer or the employee decide to end the employment contract and working relationship.  It can be a voluntary or involuntary method.  One reason why a business would need to terminate employees is when a worker’s skills are no longer needed.  This is when an employee is made redundant.  This can be because a worker has been replaced with technology.


















SECTION BInstructions for Section B
Use the case study provided to answer the questions in this section. 
Answers must apply to the case study. 
Answer all questions in the spaces provided. 


Smile Brightly
Smile Brightly is a clinic established to provide dental hygiene and orthodontic services to people in the local community. It has the capacity to service up to 200 patients in any one day, with peak times occurring at 8 to 9 am and 4 to 5 pm. The business runs to a tight schedule and budget, and is committed to total quality management. It is keen to establish itself as an industry leader by adopting best practice procedures.
Over the past 12 months, Dr Smirk, the director of Smile Brightly, has been making use of forecasting, with the intention of developing a production plan. The business has recently implemented a more efficient inventory control process that has resulted in a 26 per cent decrease in materials cost per patient. He now wants to reorganise the delivery of patient service in an effort to reduce waste, particularly in terms of time, and improve quality. 
Patients commonly see three people in the course of their visit, and usually in the following order:
1. a hygienist (to clean teeth and gums and generally prepare the patient for the orthodontist)
2. an orthodontist (to provide consultation)
3. an orthodontic nurse (to provide post-consultation service; for example, to fit bands with dental elastic).
The delivery of service to patients is not always sequential, and delays often occur between stages 1 and 2. Such waste results in inefficiencies.











Question 1 (4 marks)
Define each of the following terms and explain how they could apply to Smile Brightly:
Marking guide: 
Outline key features of each term – 2 marks each
Explain how each method can be used at Smile Brightly [use specific examples]- 2 marks

Forecasting

Sample answer:
Forecasting is where a business develops a production plan to calculate required raw materials to meet anticipated customer orders.  It uses an analysis of past and current sales data to predict future planning needs for raw materials.  Smile Brightly could look at current and past sales of orthodontic services to plan the quantities of items such as elastic bands and teeth moulds.  In this way it can predict the needs of future customers.


Total quality management
Total Quality Management is where all employees of the business have an ongoing commitment to monitor and detect faults throughout the operations’ process.  This is a strength for the business as this organisational-wide approach reduces waste thus reducing the costs of waste disposal from faulty goods.   Smile Brightly could use this approach to monitor the quality of all inputs so that they are not stored in advance and perish (eg. rubber bands for orthodontist services).  It could also have an ongoing approach to improving levels of customer service (in a logical, sequential way) to avoid wasted time. 


Question 2 (4 marks)
Identify and explain two elements of the operations system at Smile Brightly.
Marking guide: 
Identify key features of chosen two elements – 2 marks
Explain how these apply to Smile Brightly – 2 marks

Sample answer:
An input is a resource used in the production of a good or service.  It can include raw materials such as labour, time, capital equipment.  For Smile Brightly this includes the time, labour, equipment and resources such as protective dental clothing for staff, and inputs such as rubber bands and dental moulds.

A process is the transformation of inputs into outputs of a good or a service.  A process at Smile Brightly could be cleaning patient gums, the fitting of an orthodontic tooth mould and fitting of dental bands.

Question 3 (3 marks)
Recommend a strategy related to technological development that could be used to improve the efficiency and effectiveness of Smile Brightly’s operations.
Marking guide: 
TIP: use a relevant technology strategy eg. website development of computer-aided design.  
Outline key terms of chosen theory – 1 mark
Explain WHY this is a good choice for Smile Brightly – 1 mark

Computer aided design is a computerised design tool that allows a business to create product possibilities from a series of input parameters.  It could be useful for Smile Brightly because it creates 3 dimensional diagrams from given data so provides an accurate prediction of a final product from multiple angles.  Smile Brightly could use this to calculate sizing and costing requirements of orthodontic services such as braces which would save time and money.


















Question 4 (2 marks)
Recommend one lean management strategy to minimise waste at Smile Brightly.
Marking guide: 
TIP: use ONE example from the TIMWOOD method of lean management. 
Outline key terms of this example – 1 mark
 Explain WHY this would be a good choice at Smile Brightly – 1 mark

[image: ]

One way is to avoid excess inventory.  By only ordering inputs needed for customer orders when required for customer orders, Smile Brightly will not waste funds paying to store unneeded items.  This will save storage space for necessary items.  This would meet the outcome of an efficient inventory system as stated.




[bookmark: _GoBack]
Question 5 (3 marks)
Suggest why on-the-job training could be a useful training option for Smile Brightly.
Marking guide: 
Outline of key features of on-the-job training – 1 mark
Explanation of WHY this training option would be suitable for Smile Brightly – 2 marks. 
Sample answer:
On-the-job training involves the process of providing an employee with knowledge or skills to complete a task whilst working in the workplace.  This is useful for Smile Brightly because the staff can learn skills in customer service and process efficiency from an experienced mentor.  In this way, employees can practise whilst being supervised.  They also get to learn using equipment that would be used in their daily workplace, thus improving their confidence and skills in using this necessary equipment.


Question 6 (4 marks)
Propose and justify two motivational strategies to improve staff performance at Smile Brightly.
Marking guide: 
Propose two motivational strategies – 2 marks. 
Justify why each motivational strategy is a good idea for Smile Brightly- 2 marks

Sample answer:
One motivational strategy to improve staff performance is performance-related pay.  This is where an employee receives a financial reward such as a wage increase or a bonus as a result of meeting or exceeding job expectations.  This would be useful at Smile Brightly because it provides an immediate, short term motivation to staff to improve their levels of customer service and increase their productivity (output).
Another motivational strategy is career advancement.  This is where a business uses increased responsibility (recognition or promotion) as a reward for employees who have reached or exceeded a set standard.  By providing some staff with the opportunity to become supervisors, Smile Brightly could provide these staff with long-term, intrinsic motivation to increase output.  They would be challenged by the increased levels of responsibility, resulting in sustained motivation and increased quality of service delivery.
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Question 2b.

Sample response

Awards and agreements are both means of setting the formal wages and conditions of work
for employees. Both of these means require the approval of the government body — the Fair
‘Work Commission — before they can be put into effect in the workplace. Included in the terms
of both awards and agreements are the ten National Employment Standards (NES), as
determined by the government as the minimum level of conditions for all employees in
Australia.

Despite these similarities, there are a significant number of differences between these two
types of contracts. Awards are often referred to as industry-wide awards, as they apply to all
‘workers within a particular industry. On the other hand, agreements can be for individual
employees or can apply to all workers within a particular business.

Agreements can differ from the award, but must meet the ten NES, which ensure that the
conditions pass the ‘no disadvantage’ test set by the Fair Work Commission. Agreements
generally provide above-award conditions, while the award is considered a safety net for
employees. Awards are reviewed every four years, while agreements last for three years in
general.

Mark allocation: 6 marks

Marked globally.
e Responses must provide at least one similarity and one difference between the two
types of contracts.

e Similarities can include: signed off by Fair Work Commission; set out wages and
conditions of work; contain the ten NES.

e Differences can include: cover an industry rather than a business or an individual;
four-year period versus three-year period (usually); safety net feature as opposed to
above-award conditions.
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EXAM TIP
Thers are a large number of wastss tolea for ean management, but the acronym TIMWOOD may help:

Tis Transportation, s Inventory, M is Motion, W is Wating tms, the Os are Overprocsssing and Overproduction
‘and Dis Defects.

AALEAN HISTORY

A good understanding oflsan managemant can ba gainad by understanding is istory. Given that lean man-
facturing has ts originsin the automobile ndustry, 5 necssary o conside the development of the car, which
‘was inventad in 1880.

Eary in the twentiah cantury, mass production becama an important foous for businessas. In 1910, Haniy
Ford developed an assambly ina approsch to automobila manufacturing thatinvolved amployeas, componaris,
machinas and tools arangad along a production ina calld a conveyor balt systam. This approach raducad the
hours spant on tho assamblyof a car from 728 to s 1.5.

“Tho assembly ine approach to manufacturing emphasisad sffciancy.For the following 50 years t was assisted
by developments in technology such as automation and computers. The Unitad States became the largest pro-

2|

Aa

@ signin

Search Comments...

61 Comments B O oo

then ask students {o fil in examples in
activites later

21/520 454 pm

how does this image link to
4Rs principle?

2175120 455 pm

Page 37 2 A~

emphasise principles.

1. remove all processes that do not add
value to customer.

2. eliminate all waste in

production process.
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